-

-

Extra 330 + Edge 540 Im

P
~ Li-pol

1000 mm ) 1020 mm 370g 3s 850
Kit Contents:

*Horizontal stabilizator *Acessory pack

*Fuselage *Vertical stabilizator *Carbon parts:
*Wings *SFG’s -2x 1x500 ... stabilizator pushrods
*Canopy *Landing gear -2x 1,5x800 ... wing spar
*Backbone *Wheel pant

~

-

Acessory Pack Contents:

1x Landing gear plate

2x Pant brace

1x Tail skid

1x Plastic frame

1x Motor mount

2x Screw M2x16 ... landing gear
4x Washer 2 ... landing gear

4x Nut M2 ... landing gear

2x Screw 2,9x6mm ... landing gear

/

4x Screw 2,9x9mm ... motor instalation

8x Plastic clevises

2x 2/1x0,5cm ... Plastic clevises reduction

2x Threaded end

2x Wheel

2x Vertical stab hinges

1x Wood spar

1x Push rod guides

2x  1,8x110mm ... aileron pushrods

2x  3x0,5x150 ... horizontal stab reinforcemejnt

Plastic frame:

1. Aileron horn (2pcs)

2. Cross tab for aileron horn (2pcs)
3. Horizontal stabilizator horn

4. Vertical stabilizator horn

You Will Also Need:

* CA medium+thin, CA kicker

* Sharp hobby knife * Ruler
* Sandpaper 100-500

* Screwdriver

* Pliers * Drill 22 3mm







Medium CA

Medium CA










Thin CA
(uptbottom)

N Activator




" Medium CA [
e D 93 34 41 42 43 44 45

STty
.57




| 2x Aileron
1x elevator

E1-E5
(Elevator)




R1-R5
(Rudder)

N
N

@

2x Aileron
1x elevator

@ | #q -
Thin CA
(L+R)
E1-E5
(Elevator)







Thin CA

<
O

=
§=
[
















Thin CA

CG 250mm

We wish you many happy flying hours with the Edge 540

Your RC Factory team.




	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6
	Stránka 7
	Stránka 8
	Stránka 9
	Stránka 10
	Stránka 11
	Stránka 12
	Stránka 13
	Stránka 14
	Stránka 15
	Stránka 16

